HgA 2x -3 =4 oA 2O -3

1.

wict,

KN
=

@ FHA 3

@

,_01_
Ho
ol

ofl A -3

el

)

L W=

o35




5 % a, bl W5t (a, b) = ax - b2}
3(-1, 4) = (2, 1) 9] d}& 5ozt

Ch "
=

>
D> mgt:

S5 . x= -6

B

(2x+5)-3(-x—-4)=2x-1
2x+54+3x+12=2x-1
3x = —18

SLox=—-6




WAL 3x -5 =28-3x2 S|t x=a¥d

— 209 B2 7

13 13
o-p ©-3 ©-

, xof o

@ -5

7ot olzju}

‘— [e}

® -11

%

3x—-5=28-3x
30x — 50 = 28 — 30x

13

60x =78, x = T0
13
A= 15
13 _

ax+—:—2°ﬂa_1——%tﬂ?:}o]-1{ﬂ
13 3
EX—Fg -2
13 13

Al
=1



4.

g 2ds
Aol gl 4

ro]u m\l

a+1=6
L a=>5

124+b=6
— -6

c—5=
e=11

a+3+4+(-2) =
B+7+b=(-

l+c+0ﬁ)=

(-2)+7+1

2)+7+1

(-2) + 741




o5 SAl0] x of Wt FFAlo] HEF st= A4 a, b E 0|85t
a+b o e
3ax=6x+3b+5
2 1 1 2
_Z _Z 0 Z Z
@ 3 @ ® @ 3 ® 3

3ax =6x+3b+5 & F A
(3a—6)x—(3b+5)=0

o] 4o] G5 Ao|n R
3a—-6=0,3a=6

La=2

3b+5=0




e WA F Ok b 2 40 E e

@ 2x=10-3x @ 9-2x=x

®2(x+2)=1 @ 3(x—1)=4x

@4 (2x-3) =5x
B

@Db5x=10,x=2
@3x=9,x=3
1 3
2:— = ——
® x+ 5% >
@ 3x-3=4x,x=-3
®8x-12=5x,3x=12,x=4




(a=3)x=b-5
D a=3 @ a+3 ®b=5
@ b+5 (@)a—S b#5

" 2lo] di7} 91 2 AL FoHe Ao|B g x 9] A&k (o] g

o] Zo] Fojof g,
o2t g-3=0, b-5+0
a=3,b#5

Z 0xx = (0°] obd &)




ok TgelA oldol o8 AL 2w

1
_524,)(:—8 @6](——9 X = -
® x;3:4,x+3:8 O3x 4=1-2x,5x=5
@gx:]_,x:g
2

@
3x—4=1-2zx

3r+2x=1+4
51=95




S5x—1 2(1 - 5y)

Qb A 222 g(x-3) -2,
4 3
k=2, y= LAl p+g ol gte Fetelet

1
~2=5-02(-3)

-1 =
5x4 =2(x—-3) -2 ¢ ¥ 4 & F5}d
1
x:%.'.p=31°]qi
2(1 - 1 5
( 35y)_2:§_0_2(y_3)94°<¥%0ﬂ 60 & 5otH
40(1 - 5y) — 120 = 30 — 12(y — 3)
73
_ 2. _Zap

Wb p+ g =31 - 73 = —42 °|t}.




a 2 1
“y—Z2 == 1 ---
RS
—X X
z — 3 @
@ 2 @ 4 ® 6 @)8 ® 10

049 she WA 7T ¥, 1
QAYHA L TSl A a & T

Al o —x—|—7:x—|—1
©A E 3

—x—|—7) (x—i—l)
15 = 1B
X( 5 3

-3x+21=5x+5

—3x—bx=5-21

—8x = -16

Sox=2

T2 @), ©49] 35 ol x =2 o[th

2 1 _

@A Sx-Z = x4 10 x=22 It
6° 3 2

8a-2_Looiy

6 372

4 2 _ 14

3 3

FH 3 FotHa-2=6

L a=28

HE Al At o o

15}
1__




